goooon

A = {10¥, 50%, 100¥ }
0000
A0000D0O0O0D0O00O
00mOo
100000MO0000o0
0000
000000000000
000000 (0D)oo

No:

w = 10:10: 50,
w=10:10:10:50:10
Yes:
w=10:10:10:50:10: 10,
w=10:10:50:100
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gooooboooooobod

gooo

00 (000000)000000 (state) 000

O00000001000000000000 (transit) 0O

godooon
U0 00000 «000DO0O0O0ODO0O 0000000

6(Ql7 CL) = 4k
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oooobooogoon

00000000 (Finite Automaton) 0 O O
oboooobooboooooo

00000 w000 wi,we,ws...,w, OO0O0000000O00O0O0

W = Wi1waws . ..Wn
AﬂK%WﬁmaﬁinLT~7
[wiJwaws] .. Jw; ] ... [wn
M7 — Ay R
A—bIby
il fE AR

C> CD ...... ()INMM
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FAO OO Lo

L,={wlwDO0OOO0OO100000}

{£,0,00,...,11,011,101, 110, . ..
1111,0111,10111,11011,11101, 11110, ...}

A ={0,1},
Q = {0, a1}
Oo0o0: q
0000O0F = {g}
ogooog

1
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goooobbooogad

00000000 (FA)OOO
FA:(Q,A,(S,Q(),F)
e JOOODODODODODO A

e 10DDOODOO Q=1{q0,q1,---,qn}
o IOODOOO §:Q@xA—Q

e 0000 geQ(—000D00O)

e 00D0DODO FcCQ

FAODOOOODOOO (z,q,y)

g€Q, zyeA ANTEF W = TY LT
oobodnd w==zy @
z: 00000 L1 . TmlY1-..Yn
¢ 000000000 L
y: goponono FAD I ERIR RS

q
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FAODOO £y

£i={w|wd 1000000000}

{10,100, 110, 1000, 1010, 1100, 1110, ... }

A={0,1},

Q = {9, 11, e, 93}
goofd: qo
00000F = {gs)
goooo
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FAODOO L

L3={w|lwOD0O 1000000100000}

{e,0,1,01, 10,000,001, 010, 100, 101, 0000, . . . }

A=1{0,1},
Q = {q0, 1, 02}
oodd: qo

0000O0F = {a,a}
goooo

1
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OooMOOOOODOOOOO

00w
W={w/lwdODMOOO}

000000 MOOOWOOOOO (recognizes language) D000

googd

O00000000000000000000000 (regular language) O
0o
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